Thermalright \NNNNANNRN

AXP-100







AXP-100 BELEEEU Al

mm | hermalright



AXP-100 Intel 775/1155/1156/1366

Exploded View

Important! Before proceeding with installation, please check for the most
up-to-date instructions at www.thermalright.com

T — M3 L17 Screw

,— TY-100 Fan

__'-1-_-_-_-_'-1'-_"-_"!_!‘__'-_-'_*_'-1 ,
g

LA e -
iy lﬂ;”

== “_ Metal Back Plate
elrk M3 L10 Screw

Back Plate cap

1 mm | hermalright



Component

o Heatsink Body =1 @ Enhanced Fan Mount =1 9 Metal Back Plate =1
o Mounting Plate =1 @ Anchoring Mount =1 @ Screw Nut x4

@ 000 peB @ V3 L10 Screw x5 © M3 L6 Screw x7
@ intel Washer (small) x4 | () AMD Washer (big) x4 @ Back Plate Cap x1
{® cCnill Factor lll x1 @ 1Y-100 Fanx1 ® M3 L4 Screw x5
B M3 L17 Screw x5 (@ M3 L30 Screw x5




Installation Instructions:

Step 1:

Step 1 : Backplate Installation

Choose the platform (775/1155/1156/1366)you are in use. Make four M3L10 Screws go through the
Metal Back Plate from bottom towards top And then place the Metal Back Plate on the table.
Put the four Washers (for Intel) around the Screw Cylinders.

Step 2 : Back Plate Cap
Mote: When installing on a 775 platform, please
first insert the Back Plate Cap into the opening on
the Back Plate. Make sure you have the Cap facing
downwards. (Only for 775).

Step 3 : Place the motherboard on top of the Back
Plate. See the four Screw Cylinders go through
the four holes around the processor socket Cap
the four Screw Cylinders with the four Screw Nuts.
Make sure the side with a washer is facing the
Back Plate.

Step 5:

Step 4 - Place the Anchoring Mount on the Screw
MNuts. Use the four M3L6 Screws to fix
the Anchoring Mount on to the Screw Nuts.

Step 5 : Applying Thermal Paste
Apply the Chill Factor Il to the base of the
Heatsink and the surface of the CPU evenly.

mm | hermalright




Step 6:

Step 6 - Mounting Plate Installation.

Place the Heatsink Body on top of the CPU. Make the Mounting Plate go through the Heatsink Body.
Then use the two M3L6 screws to secure the Mounting Plate.
Step 7:

Step 7 : Fan Installation

Place the included TY-100 Fan onto the Heatsink Body. And then secure it by scewing on the four
M3L17 Screws, though the fan's mounting hole.

Step 8:

Step 8 - Installation completed

Plug in the fan connector to the CPU PWM Fan socket on the motherboard. Installation complete

The Ultimate Cooling Solutions!

www thermalrnght.com



AXP-100 Intel 2011

Exploded View

Important! Before proceeding with installation, please check for the most
up-to-date instructions at www.thermalright.com

T o M3 L17 Screw

|

Mounting Plate

LGA 2011
Type B Screw Pillars

5 mm | hermalright



Component

o Heatsink Body =1 @ Enhanced Fan Mount =1 9 Metal Back Plate =1
o Mounting Plate =1 @ Anchoring Mount =1 @ Screw Nut x4

@ 000 peB @ V3 L10 Screw x5 © M3 L6 Screw x7
@ intel Washer (small) x4 | () AMD Washer (big) x4 @ Back Plate Cap x1
{® cCnill Factor lll x1 @ 1Y-100 Fanx1 ® M3 L4 Screw x5
B M3 L17 Screw x5 (@ M3 L30 Screw x5




Installation Instructions:

Step 1:

Step 1 - Screw Pillar Installation
Screw on the four LGA2011 Type B Screw Pillars into the Heatsink studs on the ILM Assembly Frame
around the processor socket.

Step 2:

Step 2 : Anchoring Mount Installation
Place the Anchoring Mount onto the four LGA2011 Type B Screw Pillars, secure it by tightening it with 4
M3L6 Screws.

Step 3:

Step 3 : Applying Thermal Paste
Apply the Chill Factor Il to the base of the Heatsink and the surface of the CPU evenly.

mm | hermalright




Step 4:

Step 4 - Mounting Plate Installation.
Place the Heatsink Body on top of the CPU. Make the Mounting Plate go through the Heatsink Body.
Then use the two M3L6 screws to secure the Mounting Plate.

Step 5:

Step 5 : Fan Installation
Place the included TY-100 Fan onto the Heatsink Body. And then secure it by scewing on the four
M3L17 Screws, though the fan’s mounting hole.

Step 6:

Step 6 : Installation completed
Plug in the fan connector to the CPU PWM Fan socket on the motherboard. Installation complete.

The Ultimate Cooling Solutions!  www thermalright.com




AXP-100 AM2/AM2+/AM3/AM3+/FM1/FM2

Exploded View

Important! Before proceeding with installation, please check for the most
up-to-date instructions at www.thermalright.com

T ,— M3 L17 Screw

|

Mounting Plate

N Screw Nut

Back Plate Cap

9 mm | hermalright



Component

o Heatsink Body =1 @ Enhanced Fan Mount =1 9 Metal Back Plate =1
o Mounting Plate =1 @ Anchoring Mount =1 @ Screw Nut x4

@ 000 peB @ V3 L10 Screw x5 © M3 L6 Screw x7
@ intel Washer (small) x4 | () AMD Washer (big) x4 @ Back Plate Cap x1
{® cCnill Factor lll x1 @ 1Y-100 Fanx1 ® M3 L4 Screw x5
B M3 L17 Screw x5 (@ M3 L30 Screw x5

10



1

Installation Instructions:

Step 1:

Step 1 : Back Plate Installation

Choose the platform (AMD) you are in use. Make four M3L10 Screws go through the Metal Back Plate
from bottom towards top. And then place the Metal Back Plate on the table. Put the four Washers (for

AMD) around the Screw Cylinders.

Step 2:

Step 3:

Step 2 - Back Plate Cap
Note: When installing on a 939 platform, please
first insert the Back Plate Cap into the opening on
the Back plate. Make sure you have the Cap facing
downwards. (Only for 939).

Step3 : Place the motherboard on top of the Back
Plate. See the four Screw Cylinders go through
the four holes around the processor socket Cap
the four Screw Cylinders with the four Screw Nuts.
Make sure the side with a washer is facing the
Back Plate.

Step 4 - Anchoring Mount Installation

Place the Anchoring Mount on the Screw Nuts.
Use the four M3L6 Screws to fix the Anchoring
Mount on to the Screw Nuts.

Step 5 : Applying Thermal Paste
Apply the Chill Factor 1l to the base of the
Heatsink and the surface of the CPU evenly.

mm | hermalright




Step 6:

G0

Step 6 - Mounting Plate Installation.

Place the Heatsink Body on top of the CPU. Make the Mounting Plate go through the Heatsink Body.
Then use the two M3L6 screws to secure the Mounting Plate.

Step 7:

Step 7 : Fan Installation

Place the included TY-100 Fan onto the Heatsink Body. And then secure it by scewing on the four
M3L17 Screws, though the fan's mounting hole.

Step 8:

Step 8 - Installation completed

Plug in the fan connector to the CPU PWM Fan socket on the motherboard. Installation complete

The Ultimate Cooling Solutions!  wwwihermalrightcom 12



AXP-100 Intel 775/1155/1156/1366

Explosionszeichnung

Wichtig! Bitte priafen Sie vor der Montage ob fur lhren Kahler aktualisierte
Montagehinweise auf der Webseite www.thermalright.com verfugbar sind.

T _,— M3 L17 Schraube

|

»,—— TY-100 Lufter

__'-1-_-_-_-_'-1'-_"-_"!_!‘__'-_-'_*_'-1 ,
g

e LLALL i -
iF lﬂ;”

(klein)
== “_ Multi Plattform Backplate
elnk M3 L10 Schraube

Backplateeinsatz

13 mm | hermalright



Komponenten

@ «ahikomer x1

Verbesserte
Laftermontagex1

9 Mult Plattform Backplate

e Befestigungsplatte =1

@ Montagerahmen =1

@ Randelschraube =4

e LGA2011 Type B
Adapterschraube x4

@ M3 L10 Schraube x5

© M3 L6 Schraube 7

Intel Unteregscheibe AMD Unterlegscheibe .
@ (klein) x4 m (groR) x4 @ Backplateeinsatz x1
Chill Factro 1l .
® Warmeleitnaste 1 @ 1Y 100 Lufter x1 ® M3 L4 Schraube x5
@ M3 L17 Schraube x5 (@ V3 L30 Schraubex5

14




15

Installationsanleitung:

Step 1:

Achten Sie auf die fir die entsprechenden Intel Sockel (775/1155/1156/1366) vorgesehene
Bohmungen in der Multi Platiform Backplate. Flhren Sie die vier M3L10 Schrauben jeweils von unten
durch diese Bohrungen und legen dann die Backplate auf den Tisch. Legen Sie die vier Unterlegscheiben

(flr Intel) dber die hervorstehenden Gewinde

Beachten Sie:

Bei Verwendung einer Intel Sockel 775 Plattform
setzen Sie zuerst den Backplateeinsatz in die
quadratische Ofinung der Backplate ein. Gehen
Sie sicher, dass der Aufsatz nach unten zeigt.

Platzieren Sie das Mainboard von oben auf die
Backplate, so dass die hervorstehenden
Schraubengewinde durch die Ldcher um den
Prozessorsockel gehen. Schrauben Sie die
beiliegenden Randelschrauben auf die vier
Schraubengewinde. Achten Sie dabei darauf, dass
die Seite mit der Unterlegscheibe zur Backplate

zeigt

Step 4: ¥

Step 5:

Setzen Sie den Montagerahmen auf die
Randelschrauben. Verwenden Sie die vier
M3L6 Schrauben, um den Montagerahmen
auf den Randelschrauben zu befestigen.

Tragen Sie eine hauchdinne Schicht Chill
Factro Il Warmeleitpaste auf der Oberflache
der CPU und auf der Unterseite des Kihlers
auf.

mm | hermalright




Step 6:

Platzieren Sie den Kihlkorper auf der CPU. Fiihren Sie die Befestigungsplatte durch den Kihlkorper.
Dann verwenden Sie die zwei M3L6 Schrauben, um die Befestigungsplatte zu fixieren.

Step 7:

Legen Sie den mitgelieferten TY-100 Lifter auf den Kidhlkorper. Fihren Sie die vier M3L17
Schrauben durch die Montageldcher des Lifters und drehen diese dann vorsichtig fest.

Step 8:

Verbinden Sie den Lifterstecker mit dem CPU PWM Lifteranschiuss auf dem Mainboard
Die Installation ist nun abgeschlossen.

The Ultimate Cooling Solutions!

www thermalrnght.com

16



AXP-100 Intel 2011

Explosionszeichnung

Wichtig! Bitte priafen Sie vor der Montage, ob far lhren Kohler aktualisierte
Montagehinweise auf der Webseite www.thermalright.com verfugbar sind.

T o M3 L17 Schraube

|

Befestigungsplatte

LGAZ2011 Type B
Adapterschraube

17 mm | hermalright



Component

@ «ahikomer x1

Verbesserte
Laftermontagex1

Mult Plattform Backplate
x1

e Befestigungsplatte =1

@ Montagerahmen =1

@ Randelschraube =4

e LGA2011 Type B
Adapterschraube x4

@ M3 L10 Schraube x5

© M3 L6 Schraube 7

Intel Unteregscheibe AMD Unterlegscheibe .
@ (klein) x4 m (groR) x4 @ Backplateeinsatz x1
Chill Factro 1l .
® Warmeleitnaste 1 @ 1Y 100 Lufter x1 ® M3 L4 Schraube x5
@ M3 L17 Schraube x5 (@ V3 L30 Schraubex5

18




19

Installationsanleitung::

Step 1:

Schrauben Sie die vier LGA2011 Type B Adapterschrauben in die Gewinde des Montagerahmens, der
sich um den Prozessorsockel befindet.

Step 2:

Platzieren Sie den Befestigungsrahmen auf die LGA2011 Type B Adapterschrauben und fixieren ihn mit
vier M3L6 Schrauben.

Step 3:

Tragen Sie eine hauchdidnne Schicht Chill Factro Il Warmeleitpaste auf der Oberflache der CPU und auf
der Unterseite des Kilhlers auf.

mm | hermalright




Step 4:

Platzieren Sie den Kiihlkérper auf der CPU. Fiihren Sie die Befestigungsplatte durch den Kiihikarper.
Dann verwenden Sie die zwei M3L6 Schrauben, um die Befestigungsplatte zu fixieren.

Step 5:

Legen Sie den mitgelieferten TY-100 Lifter auf den Kihlkorper. Fihren Sie die vier M3L17 Schrauben
durch die Montagelocher des Lifters und drehen diese dann vorsichtig fest

Step 6:

Verbinden Sie den Lifterstecker mit dem CPU PWM Lifteranschiuss auf dem Mainboard.
Die Installation ist nun abgeschlossen.

The Ultimate Cooling Solutions!  wwwihermalrightcom 20



AXP-100 AM2/AM2+/AM3/AM3+/FM1/FM2

Explosionszeichnung

Wichtig! Bitte priafen Sie vor der Montage ob fur lhren Kahler aktualisierte
Montagehinweise auf der Webseite www.thermalright.com vorhanden sind.

T _,— M3 L17 Schraube

|

Befestigungsplatte

N Randelschraube

~3 “—Multi Plattform Backplate
“— M3 L10 Schraube

Backplateeinsatz

21 mm | hermalright



Component

@ «ahikomer x1

Verbesserte
Laftermontagex1

Mult Plattform Backplate
x1

e Befestigungsplatte =1

@ Montagerahmen =1

@ Randelschraube =4

e LGA2011 Type B
Adapterschraube x4

@ M3 L10 Schraube x5

© M3 L6 Schraube 7

Intel Unteregscheibe AMD Unterlegscheibe .
@ (klein) x4 m (groR) x4 @ Backplateeinsatz x1
Chill Factro 1l .
® Warmeleitnaste 1 @ 1Y 100 Lufter x1 ® M3 L4 Schraube x5
@ M3 L17 Schraube x5 (@ V3 L30 Schraubex5

22




23

Installationsanleitung:

Step 1:

Achten Sie auf die fur die entsprechenden AMD Prozessoren vorgesehene
Bohrungen in der Multi Plattform Backplate. Fuhren Sie die vier M3L10 Schrauben jeweils von unten
durch diese Bohrungen und legen dann die Backplate auf den Tisch. Legen Sie die vier Unterlegscheiben

(fir AMD) Gber die hervorstehenden Gewinde.

Step 2:

Beachten Sie:

Bei Verwendung einer AMD Sockel 939 Plattform
setzen Sie zuerst den Backplateeinsatz in die
quadratische Offnung der Backplate ein. Gehen
Sie sicher, dass der Aufsafz nach unten zeigt

Platzieren Sie das Mainboard von oben auf die
Backplate, so dass die hervorstehenden
Schraubengewinde durch die Locher um den
Prozessorsockel gehen. Schrauben Sie die
beiliegenden Randelschrauben auf die vier
Schraubengewinde. Achten Sie dabei darauf, dass
die Seite mit der Unterlegscheibe zur Backplate

zeigt.

Setzen Sie den Montagerahmen auf die
Randelschrauben. Verwenden Sie die vier
M3L6 Schrauben, um den Montagerahmen
auf den Randelschrauben zu befestigen.

Tragen Sie eine hauchdinne Schicht Chill Factro
Il Warmeleitpaste auf der Oberflache der CPU
und auf der Unterseite des Kihlers auf.

mm | hermalright




Step 6:

G0

Platzieren Sie den Kiihlkorper auf der CPU. Fiihren Sie die Befestigungsplatte durch den Kiihlkorper.
Dann verwenden Sie die zwei M3L6 Schrauben, um die Befestigungsplatte zu fixieren.

Step 7:

Legen Sie den mitgelieferten TY-100 Lifter auf den Kdhlkdrper. Fihren Sie die vier M3L17
Schrauben durch die Montageldcher des Lifters und drehen diese dann vorsichtig fest.

Step 8:

Verbinden Sie den Lifterstecker mit dem CPU PWM Lifteranschiuss auf dem Mainboard.
Die Installation ist nun abgeschlossen.

The Ultimate Cooling Solutions!  wwwihermalrightcom 24



AXP-100 Intel 775/1155/1156/1366

ZRIEFE
AR B RAR ST EENE R EA BN EN RIS

= “_ iR
elsk M3 L10 244

| oy e

775 Hi&#=

25 mm | hermalright



@ ~<P-100 752 x1 @ ErEEE < © =i

O =if < @ =LA « O =324 4
@ 2011 AE4 x4 @ V3 L10 184 x5 © V316824 <7
@ intel 25 (/) ) x4 @ Avp 28 (K ) x4 ® 775 FHEE <
® crinEaE « @ TY-100 A x1 B M3 L4 B4 x5
B vz L1724 x5 @ V13 130 £24 x5

26



27

Stepl: BFEEZEE

xR Ay R EE 2R 30T (1366/1156/1155/775) IEEH A BwAVALA - ASIUMR M3 L10 B4ZFiREHR

#FE FIntel FHR2E (/) -

Step 2: BB %L (MR Socket 775) Step 3 : S REEMLTHE L - FREEEND
AR BT 775 TR - SBENE 775 A | EiRsFLOE - SNEFEEIRGE FiR -

BHEZERBNLE -

Step 4 BZSAMNBN EFER 4% L - SUE | Step 5: ZHREAENEHRWEELE CPU

M3 L6 IR4+88 AL B K@ -

HEL -

mm | hermalright




Step 6:

AR TR

Step 6 : BF=E X R T
5 i R ERaR iR B - WS ARREER CPU £X5 - Z@&i§ M3 L6 Bifil_EEiRMIE -

Step 7:

Step 7 - EEEE (TY-100 BE%EE )
M EEM B AEEE 75 - WERNIR M3 L17 RS EEEE -

Step 8:

Step 8: ELEEE® - 3515 PWM 4Pin L5 Ei8EER E#ith CPU EEEBEETHZE -

The Ultimate Cooling Solutions!  www thermalright.com




AXP-100 Intel 2011

ZRIEFE
AR B RAR ST EENE R EA BN EN RIS

29 mm | hermalright



@ ~<P-100 752 x1 @ ErEEE < © =i

O =if < @ =LA « O =324 4
@ 2011 AE4 x4 @ V3 L10 184 x5 © V316824 <7
@ intel 25 (/) ) x4 @ Avp 28 (K ) x4 ® 775 FHEE <
® crinEaE « @ TY-100 A x1 B M3 L4 B4 x5
B vz L1724 x5 @ V13 130 £24 x5

30



31

Step 1 : #5018 2011 BB ER THIHENA L -

Step 2:

Step 2 . S ZAHEMER 2011 EER4#& L - WHE L 4 38 M3 L6 Bk -

Step 3:

Step 3 : #§EEGEIE LR CPU 8 F199FHF F BN -

mm | hermalright




Step 4:

Step 4 : BF=E AR L
15 i AT EnaR iR BT - WS ARREE CPU £75 - Z@&i§ M3 L6 Bisdl_EEiRmME -

Step 5:

Step 5: EELE (TY-100 AE%ZE)
E R B AEeE E7T - WERIR M3 L17 RisS EEEE -

Step 6:

Step 6 : EEEIE® - B PWM 4Pin ELEHEREER Ttk CPU EEEREIEM%EE -

The Ultimate Cooling Solutions!  www thermalright.com




AXP-100 AM2/AM2+/AM3/AM3+/FM1/FM2

AL ittt '_l_.__-__ 1
TR

33 == Thermalright



@ ~<P-100 752 x1 @ ErEEE < © =i

O =if < @ =LA « O =324 4
@ 2011 AE4 x4 @ V3 L10 184 x5 © V316824 <7
@ intel 25 (/) ) x4 @ Avp 28 (K ) x4 ® 775 FHEE <
® crinEaE « @ TY-100 A x1 B M3 L4 B4 x5
B vz L1724 x5 @ V13 130 £24 x5




35

LRI

Step 1 - BHELRE

5 O4R M3 L10 8R4 ZFiBEs i AMD SRAUEE E AMD FRRE (X) -

Step 2 : BFELE ({EEA Socket 393)
IR BIEEEH 039 THRE - FEEIE939A
HETEREEL -

Step3 : GBI IR TR - Fil T Hiay
EFesA U - BOUEFERGE LR -

Step4: BSAMNBH EFHEELH% L - 15 00{E
M3 L6 Rk - A B A -

SJ:lEP 0 EFEMECAERIEEELUE CPU S|

mm | hermalright



Step 6 : BF=E AR
15 i AT EnaR iR B - WS ARREE CPU £X5 - Z@&i§ M3 L6 Bisdl_EEiRmE -

Step 7:

Step 7 : EEZE (TY-100 AEZE )
1 EEM B AEEE 75 - WERNIR M3 L17 RS EEEE -

Step 8:

Step 8 - EBEE® - 5% PWM 4Pin B EEREER Tk CPU EEERETMEE -

The Ultimate Cooling Solutions!  wwwihermalrightcom 36



AXP-100 Intel 775/1155/1156/1366

ZIRIRIEE
IR B RN EENE RS ERNEN RS

= “_ iR
elsk M3 L10 242

| oy e

775 e =

37 mm | hermalright



@ ~xP-100 ZiE x1 @ i TREE © =i <

O =i x1 O =7inE 1 (6 =307
@ 2011 FigL x4 O v3L10EY x5 © V36 By x7
D intel 228 (/)\) x4 @ AvD 28 (K ) x4 P 775 B = <1
® crusnE < @ TY-100 AR x1 B M3 La B2 x5
B vz L1784 x5 @ V3130184 x5

38



39

LRI

Stepl: BFHELE

HeEE Ry A TR RE2EY (1366/1156/1155/775) it #E M M T EHRAVAML - FIEIR M3 L10 RLZFHAEH

REL Intel FZE (/) -

Step 2: BE%E ( N3ERT Socket 775) Step 3: FEREET IR L - FHTHEAOONE
R MEmEET 775 TR - §ER 775 BE | 24405, BT FESRLE gy -

mEETHERE -

Step 4. FEAMNBN EFEEL E . FOA | Step 5: FHESHETERAREEMLUE CPU

M3 L6 R4 A BRIRAM -

&L -

mm | hermalright




Step 6:

AR TR

Step 6 : BilRE E{EZIE
R AR EE L5 -

Step 7:

Step 7 : ME%E (TY-100 ME%EX )
FHEME TR 75 - HERNR M3 L7 BERNEERE -

Step 8:

Step 8: MBEER - i5H PWM 4Pin MEESLERE T ik CPU MEESLEIEMZE -

The Ultimate Cooling Solutions!  www thermalright.com




AXP-100 Intel 2011

ZIRIRIEE
IR B RN EENE RS ERNEN RS

41 mm | hermalright



@ ~xP-100 ZiE x1 @ i TREE © =i <

O =i x1 O =7inE 1 (6 =307
@ 2011 FigL x4 O v3L10EY x5 © V36 By x7
D intel 228 (/)\) x4 @ AvD 28 (K ) x4 P 775 B = <1
® crusnE < @ TY-100 AR x1 B M3 La B2 x5
B vz L1784 x5 @ V3130184 x5

42



43

LRI

Step 1: O 2011 BLBEETEHNAL -

Step 2:

Step 2. FEAHEMET 2011 EEREL E - HEiEL 4 HM3 L6 B -

Step 3:

Step 3 : FEFAZFREELLE CPU 5 EHSRFE LS -

mm | hermalright




Step 4:

Step 4 : BilmE K {F LA
FE#RN A EE R - HEEEEET CPU £X - Z5% M3 L6 B8 M -

Step 5:

Step 5: ME%E (TY-100 ME%EE )
HHRERE T 75 - FERANE M3 L17 BLfNEER -

Step 6:

Step 6 : MEEIRER - 5% PWM 4Pin K GEESLEE T 1k CPU MBEBESLEISS %A -

The Ultimate Cooling Solutions!  www thermalright.com




AXP-100 AM2/AM2+/AM3/AM3+/FM1/FM2

ZIRIRIEE
IR B RN EENE RS ERNEN RS

AL ittt '_l_.__-__ 1
TR

N~ M3 L10E%

775 HE &

45 mm | hermalright



@ ~xP-100 ZiE x1 @ i TREE © =i <

O =i x1 O =7inE 1 (6 =307
@ 2011 BiEg X O v3L10E x5 © V3 L6 B4 «7
D intel 228 (/)\) x4 @ AvD 28 (K ) x4 P 775 B = <1
® crusnE < @ TY-100 AR x1 B M3 La B2 x5
B vz L1784 x5 @ V3130184 x5

46



47

LRI

Step 1 : BE%LE

FFIO4R M3 L10 $Re£ 2R 54l AMD ERAMURE E AMD FEE (X) -

Step 2 : BFE%E 3 ( (UEMAT Socket 393)
R MIEEET 939 TR - HE 939 A
ERETEEL -

Step3 : HEWMERT IR E - FHEFHAOTR
2A4E - BUTFRERLE LRL -

Step4: HSAMNBM EFEEL - FOT
M3 L6 R A BN ALAT -

itep 2 RESHETRRSREELLUE CPU £

L]

mm | hermalright




Step 6 : BilRE K {F LA
FEHN EEASEE LR - HEEEEET CPU £ . Z/EH M3 L6 B8 FRIRAR -

Step 7:

Step 7 : B %% (TY-100 MEBZEE )
FHEME TR 75 - HERNR M3 L7 BERNEERE -

Step 8:

Step 8 : MBEER « 5% PWM 4Pin M E#LEET 4 CPU MERSLETMZEE -

The Ultimate Cooling Solutions!  wwwihermalrightcom 48



AXP-100

Technical Spec

Heatsink Specifications:

Dimension: Length 105.47mm x Width 121.1mm x Height 44 15mm
Weight: 360g (including fan and mounting brackets)

Heatpipe: 6mm heatpipe™6 units

Copper Base: C1100 Pure copper nickel plated

Fan Specification:

Dimension: L108 25mm x H101.5mm x W14mm
Weight: 40g

Fan speed: 900~2500RPM (PWM controlled)
Fan noise: 22~30 dBA MAX (Test distance 1.0M)
Airflow: 16.05~44 57 CFM MAX

Connector: 4 Pin (PWM Fan connector)

49 mm | hermalright



AXP-100

Technische Spezifikationen

Kiihlkorper Spezifikationen:

Malie (in mm): Lange 105,47 x Breit 121,1 x Hohe 44,15
Gewicht: 360 g (inklusive Lafter und Montageklammern)
Heatpipe: 6 mm * 6 Stuck

Kupfergrundplatte: C1100 reines Kupfer, vernickelt

Lufter Spezifikation:

Malie (in mm): L108,25 x H101,5 x B14

Gewicht: 40g

Drehzahl: 900 ~ 2500 U/min (PWM geregelt)
Gerauschentwicklung: 22 ~ 30 dBA MAX (Messabstand 1,0 m)
Fordermenge: 27,27 ~ 75,72 m*/h MAX

Anschluss: 4 Pin (PWM Luafteranschluss)

The Ultimate Cooling Solutions!  www thermalright con 50



AXP-100

A AR AR

AEAZEIRIEE .

X~T : £ Length 105.47mm x & 121.1mm x 5 44.15mm
E55:3600% (ZSRBLREIAEES)

HIEE - 6mm HEE 6

i JE5 : C1100 4k 0l JE§ 22 #2 38 IR T8

BERARIEE :

R~F : £ 108.25mm x & 101.5mm x = 14mm
EE:405%

[2l 5 88 3 - 900~2500RPM ( o] %38 PWM %l )
FESIEE : 22~30dBA ( — K BIzFEER )

[2 £ - 16.05~44.57CFM

1EEEER - 4Pin PWM $E5E

51 mm | hermalright



AXP-100

AR AR AL 1S

AR .

R~F : £ 105.47mm x T2 121.1mm x = 44.15mm
Eg5:360% (ENEUARTNBEES)

MEE - 6mm MEE 6

fio JE5 - C1100 £ fial J£ FE 2 1R A T

REHIE S -

X~ : £ 108.25mm x 73 101.5mm x = 14mm
EE:40%

X & ¥4 - 900~2500RPM ( o] 3% 3 PWM 124 )
NEIES - 22~30dBA ( — KM FEE )

X & : 16.05~44.57CFM

=L 2 A - 4Pin PWM 3L

The Ultimate Cooling Solutions!  www thermalright con 52



AXP-100

3035
7

44.15

NI 4

| AN
EEODDE

40 2698

53 mm | hermalright



Upgrading Your Fan to TY-140 series fans

Step 1: Place the Enhanced Fan Mount on top of the Heatsink Body, pass four M3L4 Screws
through the rectangle holes. Slide the frame to adjust your fan mounting position, then tighten the
Enhanced Fan Mount.

Step 2: Step 3:

Step 2: Secure the fan by screwing on the four Step 3: Installation Completed.
M3L30 Screws, though the fan's mounting Plug in the fan connector to the CPU PWM Fan
holes socket on the motherboard.

The Ultimate Cooling Solutions!  wwwihermalrightcom 54



Montageanleitung eines TY-140 Lifters

Legen Sie den Verbesserte Liftermontage auf die Oberseite des Kuhlkérpers und fuhren die
vier M3L4 Schrauben durch die langlichen Montagelocher in den vier Ecken. Justieren Sie die
gewinschte Lifterposition, indem Sie den Rahmen an die richtige Stelle schieben. Anschlielend
ziehen Sie die Schrauben an, um den Montagerahmen zu fixieren.

Step 2:

Step 3:

95

Montieren Sie den Lafter, indem Sie die
vier M3L30 Schrauben von oben durch die
Montagelécher des Lifters mit dem Rahmen

verschrauben.

Verbinden Sie den Lifterstecker mit dem CPU
PWM Lifteranschiuss auf dem Mainboard.
Die Installation ist nun abgeschlossen.

mm | hermalright




Step 1: R FE R R B AXP-100 88 L - % M3 L4 BisSliE I ER UL - TE R4k RS EAT -
ReJLERE R EE -

Step 3:

Step 2: EAEHEBER EBHERL - Wil E[U4R | Step 3: {ROJLIEZFELE 120*25mm EE - si&
M3 L30 84 - EHMA TY140/141 EAEMAFHHE -

The Ultimate Cooling Solutions!  wwwihermalrightcom 56



o7

MNEEFEE

Step 1: ¥ M ERMET AXP-100 & E - w3 L4 RLBIE TR - RS RERA -

R LMEN R B hEE -

Step 3:

Step 2. NERETHREERL - HFa8i LR
M3 30 8Lz -

Step 3: {REJLIEELEE 120°25mm M5 - 3i#E
EHNA TY140/141 RE#MCAFHE -

mm | hermalright




=nile's CHOILE

GOLO AWARD

Pobraln.li
ERLTON &
HOIGE

Ew gy v E]

& = e -
;ﬁ — | *"*’ LR )l
/ ~5 tom's wat
s hardware harchware
Freis-Leistung
L FOITORS'
CHCHCE










The Ultimate Cooling Solutions!

mm | hermalright

www.thermalright.com

TEL: +886-2-8663-6630
FAX: +886-2-8663-6645

EMAIL: sales@thermalright.com



